
Y4 – Autumn – Block 1 – Step 2 – Round to the nearest 10 Answers

Question Answer

1

a) 20 and 30
b) 27 circled

30
27 rounded to the nearest 10 is 30

c) 23 circled
20
23 rounded to the nearest 10 is 20

2
a) 41, 42, 43, 44
b) 45, 46, 47, 48, 49

3

a) 40                           d) 80                              g)    30
b) 20                           e)   10                               h)   70
c) 30                           f)    0                                 i) 100

4

a) 121 is closer to 120 than 130
124 is closer to 120 than 130
127 is closer to 130 than 120
125 is the same distance from 120 as it is from 130

b) 120, 120, 130, 130

5

a) 210
b) 710
c) 410
d) 30
e) 310
f) 120

6 379, 381, 375

7 196, 195

8

The digit in the ones will determine whether the number is rounded up or down but you 
cannot ignore the other digits as these may all change, e.g. 298 rounded to the nearest 10 
would be 300 so all of the columns have changed.

9 any number from 445 to 454

10 65 and 71, 66 and 70, 67 and 69


